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By: K. Brown Date: 30 Sep 06

FYO06

http

Concurrent with RHIC operations

Engineering/Commissiioning

EEmEEEEs Standby

TEREA

%
&

mmm Normal running

o252

Bz

BT RHIC development with colliding beams

©
(I, ©
= |«
Ol |o
= |=
LI
Sgl=
I @|w
S E
o
«
N
«
0
-
o|©
]
N o|nlg]
Ite)
Y
©
—
— c
l 2
=< <}
=}
3 £ 2
= |
H L1 1 HEERE RN - - 11 1] "Wl = e g _2
_m ~ @ Smmmma S g S
- ~ R D g 9
(@] o 0802 EL Oy
S S Q Sy ® 9o
Q 2 o c c 29 E I
™ 5 cl8csS5oce85cN
B % ©S 85852285
c Vg2 0908 cS 58
mEI B R 1 --F d--d--1--4--4--}-}-4-- C Q2 gx=c o820
) DM oo ono.E=ES aq
|
o
&
I
«
3
>l T B | R e - B e e e (@) a
2|
=
[Te S e szbzglzdzzdc: i ki P SEE I ErT i
WEzzEaa: EH £ S EEE EE EE EE CEE CEF EEE CEF B EHEE SR EE
©
=]l I I - . o
-
—
I I e N O BRI e Y - O R L R Y .
al<
<
&
.| |®
2 ol (Y
- —
al |~
<
-
3|~
Ql || B I | Y - I R Y -
al (=
EE
Y
—
N
<
oA I I - R T AR R I I A AU R O ) IO
~
a
[
i
~
™
<
I
™~
—
o
c
& |--d-- . JE N JRN R P R [ U R N ) A - L] - B O PR E . -
S|m
~
(%)) o~
o
«Q
™
ol
Do
n a
o
Q- e
|65
— |NFEéar- -- -F-1--1-- s o st SUE SRR B S B RS BES SRR -- F--| F-- L el | s -f-- --
w| |38
S(|28
Elzl®ll2 gy
[3) -l
=z
b =3
A |
ol |~
S
e
-
-
ol<tf-|-4-- - b o-- B - - B e | T - -
==le)
~
~
o
Y
™
QD.vll
©
0
- +
—
AIHE Ay ¥ 8
2 > S
.w/N.\MS N
— =}
[DEA ot
encOAH
=
MMm )
= @ - 0
mm% oY 12]o SIEELNES o o ool e < m|o|m| |4 791mu o
21353 &~ (8@ o] el P R 4 Bl el [ 1 algs] |w 3K e 0|
o |p|8(9 , ™ ®| gl =
Qlo|dlz 5 £
I O|lo|c o
X |<m/O I
P
=
=
3
2
=
g
[
%) =3
c 3|2 o
9] =13 (Y <
7] s8]l (2 N
a2 5 o
) N > Yle %)
2 EEE [} c|3 =
@ 0= =| al oo c|L IS
o | °
| c[B|= Bl Sle
S s|5|8| 8 S|= 8|3 ~ <=
r = clE|s = Sla
=% 2| &|olg o o S| E|H T ~ =|2
@) HEREEREE 2|23 5 > 3|
e o|2|0|=|5| |3]4] I ] = e
S 2 |3lelololo| |glE 21852 o0 ) clelgle xrlS
22 LY |8l v 20|3 = ? x x| |o g(aleef o |F&
£ > IS s = Sls Ol [} c c [} 25| 5|5 ISl
=5 O[0|0]|0 ][4 Qn|s|o S| G nl|g & E S S =1 1Z18%1R%1R%) P Lo
=2l (@ [SIbsdR=1R= - 2 p < = clelc|e c| |S|@
o 2| |B|O|0|0|0| |O|o O|a|o £ o|E 2 S|E £l.. [ (1 o|o|o|o ) <
2222 2= o= 2= =|o 2o V=0 =|o|o| [~ £
B EEEEEREE Slo|Z|s|g ol 1E3lE 3zlE (3= | el 3=z 1= o |El3|EIE] | g |&|S
W 5| |H|rlrole| |xoe o|<|x|h|S S STIN] |g|TIN| [@|>] |o]T|N | ) = P | eI ]
%) [} o = 5 K] £ S )
* 2l El Qe Sz [EE] (gl MEERERE <|alo] |2
= alz|Z2 alz|Z2 ol [} zZ z o = ~|o|o|o Q|
£ m 2 D._AInE D._ME pM d_AmE MEM [ Pt O e e e w o9
- £ 3 P Y N 4 = e = e 4 W - = o
9] D @ o0 Q12 X zIZIZ1Z] |5
S efHo o O—3 2 S b 3
< % o o o 0] (0] 2 m_n.v Q
w &l 1Slolo| [Slolo| [Blol |alolol |dalololel (B & < |w
£ @] <22 |x|2[2] |x|2] [—2|2| [=[2|2|2| | 0| |e|e|e|e o| (WS
5 = |9 ©|d ©|d A | x|B|B| | x|o|s|& o o| |@
@ Iz |8 8 8 — o B |2 <
o o o — = = — %) [N o0 D




